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Rec-3: Binary rep.



Numerical systems
• How do we count?

• Decimal (base-10) system.  
• Why?
• How? 

• 𝑑!"#…𝑑$ = ∑%&$!"# 𝑑% ∗ 10%

• Imagine a world with 16 fingers.
• Hexadecimal (base-16) system.
• How?

• 𝑑!"#…𝑑$ '() = ∑%&$!"# 𝑑% ∗ 16%

• Imagine a world with 3 fingers.
• Ternary (base-3) system.
• How?

• 𝑑!"#…𝑑$ '() = ∑%&$!"# 𝑑% ∗ 3%

0 1 2 3 4 5 6 7 8 9

1037 = 1 ∗	10! + 0 ∗ 10" + 3 ∗ 10# + 7 ∗ 10$

‘0’ ‘1’ ‘2’ ‘3’ ‘4’ ‘5’ ‘6’ ‘7’ ‘8’ ‘9’ ‘A’ ‘B’ ‘C’ ‘D’ ‘E’ ‘F’
hexa digits

3𝐴7𝐷 %&'()*+ = 	′3′ ∗ 16! + ′𝐴′ ∗ 16" + ′7′ ∗ 16# + ′𝐷′ ∗ 16$
           = 3 ∗ 16! 	+ 	10 ∗ 16" + 7 ∗ 16# + 13 ∗ 16$ = 14973

hexa 
example

‘0’ ‘1’ ‘2’

decimal 
digits

decimal 
example

ternary digits
102 %&'()*+ = ′1′ ∗ 3" + ′0, ∗ 3# + ′2′ ∗ 3$
           = 1 ∗ 3" + 0 ∗ 3# + 2 ∗ 3$ = 11

ternary 
example



Binary representation
• Imagine a world with 2 fingers.
• The world of our computers.
• Binary (base-2) system.

• Digits: ‘0’, ‘1’
• mapped to 0, 1 in decimal.

‘0’ ‘1’
binary 
digits



Binary representation – cont.
• Conversion from binary to decimal
• 𝑏012𝑏013…𝑏4 56789:; = ∑8<4012𝑏8 ∗ 28

• Example:

• In Python: 

1101

𝒃𝟎𝒃𝟏𝒃𝟐𝒃𝟑
1011 !"#$%&' = ′1′ ∗ 2( + ′0′ ∗ 2) + ′1′ ∗ 2* + ′1′ ∗ 2+

                              = 1 ∗ 2( + 0 ∗ 2) + 1 ∗ 2* + 1 ∗ 2+
= 11𝟐𝟎𝟐𝟏𝟐𝟐𝟐𝟑

∗



Binary representation – cont.
• Conversion from decimal to binary
• 𝑑0𝑑012…𝑑4 ?80:@A = ?
• Example - conversion algorithm:

• In Python: 
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𝒃𝟎𝒃𝟏𝒃𝟐𝒃𝟑𝒃𝟒



 םיטיב𝑛 לעב רפסמ לש םיכרע חווט

𝑛קוידב שי ולש יראניבה גוצייבש𝑁 יעבט רפסמ ןותנ•
?𝒏 לש היצקנופכ𝑵 לש ירשפאה חווטה והמ.םיטיב
0…10000:ןטקיכה•

2012:ינורשעגוציי•

…11111:לודגיכה• .1
20:ינורשעגוציי• − ?המל,1

#"!2:הנקסמ• ≤ 𝑁 ≤ 2! − 1

00…01

𝒃𝟎𝒃𝟏…𝒃𝒏3𝟐𝒃𝒏3𝟏

11…11



𝑁 רפסמה לש יראניבה גוצייב םיטיב תומכ

?𝑁לשיראניבהגוצייב𝑛םיטיבהרפסמוהמ•
?המל.םדוקמומכחווטאלודיחיךרע•
:םדוקהףיעסבשמתשנ•

2012-שםיעדוי• ≤ 𝑁ןכלו𝑛 − 1 ≤ log3𝑁
𝑁-שםיעדוי• < log3𝑁ןכלו20 < 𝑛
log$𝑁:רמולכ• < 𝑛 ≤ log$𝑁 + 1
log$𝑁:)?המל(חווטבםלשדחאךרעקוידבשי• + 1

𝑎4 = 𝑏 ⇔ log5b = x : תרוכזת


